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Instructions:

1. Attempt all questions.

2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.

4. English version is Authentic
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Define System. Explain types of system.
Explain Scientific Management in detail.

Explain functional organization. State its advantages and disadvantages.

Explain factors affecting the organizational culture.
OR
Define morale. Explain relationship between morale and productivity.

1. Explain briefly materials management relationship with other
departments.
. State the objectives of purchasing.
. State the advantages and disadvantages of centralized stores.
2. Explain briefly codification of stores.
OR
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Derive expression for Economic Ordering Quantity ( EOQ ) with usual

notations.
A manufacturing company has following data:
Average annual requirement = 40,000 units

Item cost = Rs. 200 per item
Ordering cost = Rs. 1200 per order
Carrying cost = 12 % of stored material value

Find out the following:
I. EOQ 2. Ordering, Carrying and Total cost at EOQ.

Explain phases of Production Planning and Control.
Explain ‘DARSIRI’ method of value analysis.
OR
1. Explain: Value Analysis and Value Engineering.
. Explain objectives of value analysis.
1. State the advantages and limitations of Gantt chart.
2. Find out Economic Batch Quantity( EBQ ) from following data.
Total number of Products in a batch = 5,000 units
Setup cost =Rs. 300
Cost per unit = Rs. 30
Carrying cost = 10% of material cost
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. Explain in brief : Activity , Event, Dependency, Dummy activity

Time : 02.30 p.m. — 05.00 p.m.
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2. Compare CPM and PERT.
Draw CPM Network for following activities and show critical path and
calculate total project time.

Activity A B C D E F
Duration in days 7 9 5 10 9 6
Immed1at§ precedmg i A A B C.D C
activity
OR

Write short note on: 1. ABC analysis
2. Wilson’s Inventory Model
1. Explain the Updating of Network with suitable example.
2. State the types of FLOAT.
Explain ‘Total Float’ with suitable example.
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